Name Date

Practice B

In Exercises 1-3, write a compound inequality that is represented by the graph.
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In Exercises 4 and 5, write the sentence as an inequality. Graph the inequality.

4. A number d is less than or equal to 2 and greater than or equal to -2,

5. A number m is no less than —1 or less than or equal to HS%.
In Exercises 611, solve the inequality. Graph the solution.
6. -2 210-3g 2 -8 7. 4<2p+8<18

B. -13 >¢g+20r5¢ 2 -15 9, 1I5<-v—-8er3vr+4210
10. —6 < 46y +12) < 14 M. 42 < 6(3 = k) or $(14k - 8) 2 10

12. A tuxedo rental shop rents tuxedos with sleeve lengths from 20 inches to
40 inches. The shop says the length of the sleeves should be about 1.2 times
a person's arm length, Write and solve a compound inequality that represents
the arm lengths of people the shop does nof provide tuxedos for,

In Exercises 13-16, solve the inequality, Graph the solution, if possible.

13. 8w -3 >12w+30r3>—%w+9 14, 2015 <3 =17 and t —13 < ~19

15, 3d +17 s llor-4d +4 < =-3d +24 16, 4x -9 < 9x+ 6 < 4x+ 16

17. Write a real-life story that can be modeled by the graph.
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Name

Date

Enrichment and Extension

SpeciaI‘Cases of Compound Inequalities

Example: Solve the compound inequality, graph the solution, and then state the
solution in interval notation: 2x < x =1 and 10 = 2(x + 4),

2x < x~=1and 10 2 2(x - 4)

x<-1 and 5= x-4
x < -1 and x <9

So, the answer is only
x < -1,

o J S TSN JUUN OO SO OO OO [ 2 # N
2 [ A ) B B I
| 1

W ] 2 x<-1,

B O e e e o o o o R o Interval Notation: (—oo, —1)

Solve the compound inequality, graph the solution, and state the solution in

Interval notation, if possible.

1. 9x—-5-4x23x+5 or 2(3x +1) 2 5x

2. 6x+2£5x+1and8_>_4(x—«l)

3. 55-2x+3<1

4, 2x+5<x+9 or

Ix -2

=4

5. Sx+3 <4x+1) or 2x—52 6x—11-3x

Tx~5
3
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23 and 3x+124x -1
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Answers

4. {peRip > 5} (5 =)

Il 1
T T T

r
T
-2-1 0 1

Ot
~10-8 —6 —4 -2

6. {reRly <13 <y <4} (-, US4

7. {yeR|y € -Ly 2 4}, (==, -1JU[4, =)
8 {xeR|-5 < x < 0}, [-5, 0)

9. {xeR|-05<x<2,x 225,
(=0.5, 2)U[2.5, o)

10. {yc R]y # 0}, (~oo, 0)U(0, )

2.4 Puzzle Time
IN THE KITTY POOL

2.5 Start Thinking

x < Jorx =2 65
3 65

| 1 1 L ! [P} H !
T

1
LIRS N I R R N s L
0 10 20 30 40 50 60 7O BO 90 100

The zoo charpes an entry fee for people ages 3 and
older who are Jess than 65 years old.

2.5 Warm Up
1.x>6 2 x < -3 3.x=206
4. x <2 5 x>13 6. x < -2

2.5 Cumulative Review Warm Up

1.z = -10 2, h=11 3 y=6
4, v =16 5. ¢ = -8

2.5 Practice A

1. -4 <x <1 2.2<x<7

3. x<2andx 2 53

4. 3 <t <5

1 i ™
T 1 2
3

Q 1 2

Y.
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6. 52 -2o0rs < -6
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~7 ~6 ~§ -4 ~3 ~2 -1 0 1
7.36 s w s 42
8. -1l<x<6
—— Ottt
-2-1 0 1 2 3 4 5 6 7 B
9. -3<t<£2
LA 1 '] 1 1 2 1 l }
LI L L L T L]
~5-4-3-2-1 0 { 2 3 4 5§
10. 3 < g <5
3 [l l &, i Iy L
] T T b d t N [
¢ 1 2 3 4 5 &
M. h<-20rh »>5
——— OO
~3-2-1 6 1 2 3 4 5 6 7

2. m < —150rm = -8
-15

! 1 F 1 &

- T EA A | hd

L
T T
—~24 —20 —-16 —~i2 -8 -4 0 4

1. welorwz 6
i ey 1 1 {
T ¥ e T 1 H
-1 0 1 2 3 4

&
N i b
6

5

14, 0.6L < 18Bor0.6L > 26, L < 30orl > 43%

15, no solution

16. p > -4
-ttt
~9-B~7-6-5-4-3-2-1 0 1 2

17. n > 5
O
-2~ 0 1V 2 3 4 K & 7 8

18. all real numbers
B
————— 01 2 3 4 5

X 2.5 Practice B

1. -2 < x <6

I x<0orx > 2

2. x<-lorx 2 4
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Answers

K o4 25452

A ———
“5-4-3-2-1 0 1 2 3 4 5
5. m2-lorms —5%
1
-53
-y L L ] $ 1 1 Fe L ]
o~ T T 1 1 T 3 e 1 1
-7 -5 -5 -4 =3 =2 «1 0 1
6. 42g=26
1 i L ] re L . 1.
o [} L) 1 T g T ha T
o 1 2 3 4 5 1] 7
7. - 6<p<5
5
O O
-10-8-6-4-2 ¢ 2 4 6 8 10
8 g<—-150rg 2 -3
i o) i i 1 & L L -
Bl EH ~ 1] 4 T h d T T Lagl
-18 -15 -12 -9 -6 -3 0 3
9. v < =-230rv =2
-23 2
A
~2B-24-20-16-12 -8 -4 @ 4 8
10, =5 < y <5
-5 5
N o o e e e B A At
“10-8-6-4-2 0 2 4 & 8 10
M. k<-dorkz2
bl ™y 1 l 1 i i rFY 1 L H
i ™ e | T T T LI di | T L
-5 w8322 1 t 23 458
12. 1.2a < 20 0r1.2a > 40;a < 162 ora > 33}
1. we< —2orw > 8
OOt
-10-8-6-4-2 8 2 4 6 8 10
14. 1o solution
15, all real numbers
e B B e
5-4-3-2-1 0 1 2 3 4 5
16, -3 <x <2
1 l y 1 L L [
1 T Ly 1 T T 1
-5-4-3-2-1 0 1 2 3 4 5
17. Your personal goal is 10 exercise a minimum of

two hours per week and a maximum of five hours

per week.
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,6&2.5 Enrichment and Extension

1. x 2 -2,[-2 o0}
T [ S B | 1 bl TR
T L SR B | T p—T T
-5-4-3-2-1 0 1 2 3 4 5
2. x € -, (—eo, 1]
el L i by Il 1 L i H i
3 T E T b T T T U ¥ L
-5-4-3-2-1 0 1 2 3 4 5

3. no solution

4.x <dorx z 6, (-, 4) U6,

10123456 78
5. x < 6, (—o, 6}
EREEEEREERN
6. x =2
S5-4-3-2-1 0 %t 2z 3 4 5
2.5 Puzzie Time
GREAT RED SPOT
2.6 Start Thinking
Sample answer:
x | |x—3| | yesorno
—2 5 yes
-1 4 yes
0 3 yes
1 2 yes
2 1 no
3 0 no
4 1 no
5 2 ves
6 3 yes

no; Opposite values do not always give the same result
because the order of operations prompts you to subtract
3 from the value before taking the absolute value.

2.6 Warm Up
1. w=-7o0r7 2. no solution
3.m=-20rl0 4. d = ~Tor7
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